FE37REGHRE LHREEFEXS

20215108318 (A)

RE—Rx
7 FIRTTERE b B
A fiH 147 2L 34 44 57 6 fir. 7L 8 fir
10/31 100m |FHiE B (@) 10.84 |HA-f B (3) 10.97 I BEEL  (2) 11.02 |##E  KFn (2) 1113 | TiE M (@) 11.28 |2 BB (3) 11.42 |#%iE #A (D 11.53 |FHA  mear  (2) 11.53
[N —0. 8 NGR|JUHL2 R s -0.8 |JUEARE -0.8 KR -0.8 |IIJEK -0.8 | KRH ki -0.7 [JUEBSE -0.7 KR -0.8
10/3] 400m |[AM KO 49.37 |7EHE HME () 50.84 |+ E (2 51.62 4511 Hath  (2) 53.03 [A&IH HEK () 53.84 |FeFE B (1) 55.82 [ELH S (1) 55.97 |JEHS AR (2) 59. 58
KR U R R JUHE SR IR ZREE BB EFRRRALR KRB KR EHLE
10/3] 1500m |EH g 4:16.05 |Z5HE  MFE (1) 4:16.65 [k f&sb (2)  4:18.16 [HEE EA (2)  4:19.75 [KA R (2)  4:20.67 |mpE K 4:23.88 |EifE B (2)  4:27.35 [fE#E Bk (2)  4:29.09
TG i 5 X U RRE KRIRBLEA KRB RIS TG i 5 4 X e JU R * AR
10/3] 5000m |H®H #iE (3) 16:16.19 \PFH  IFTkE  (3) 15:21.68 [fEfiE Jk#B  (2) 15:52.00 |¥EH JAK  (2) 15:58.70 |#aAK M (3) 16:02.10 [FHiE T (1) 16:08.20 |flH BEF) 16:29. 22 |fi AN (2) 16:37.65
R IR JUHLAE R JUR AR JUHLAE R JU AR JUHL AR NATC JUH AR
10/31 ek i e 1m96 % tEX (2) Im70 |G R (2) 1m55
KRBl NGR| KR HUH KRR ke
10/31 A WEBk Bl BEOKRES (1) 6m83 Bk A&k (3) 6m66 |FIL EAHE  (2) 6m35 |ifi)ll ez (1) 6m29 |1k MR (2) 6m23 |HiE A (1) 6m13 |HfE & #H  (2) 5m90 |t Bk (2) 5m71
IR 40.0 KRR g -0.1 [JuESEE +0.3 PKIRLE +0.2 | JUHZREE +0. 0 RIRHRE -0.3 |JUH R +0.6 | KIRLE +0.0
10/31 [RE2253 Bl Bak () 38m24 [7KjiE  MEsF o (2) 3Tml5 [ Bz (1) 28m74 £ FE (1) 26m93 |k Thk (1) 26m79 |EiE () 24m88 | Kl AR (2) 24m12
(1. 750kg) | KRR NGR | AR o U SR KRLE ISR KRLE KR
10/31 L0 KnowEC (3) 51md5 |EfE  HEX  (2) 42m10 |JES R (2) 42m01 | T mE (2) 38m29 |%E &#& (1) 33m24 |Z2Hs  HEME  (2) 22m06 |fEfE B (1) 21m80
(0.800kg) | KiRHRE KRR B KRLE KRLE )T 5
10/31 100m |&E 2 ) 11.26 [BrfB 1 (1) 11.57 [k s8R (2) 11.74 PEIL B (2) 11.85 [ HifE (2 12.06 [fix ==X (2) 12.15 |44 vEiE (2) 12.26 [ngE B (3) 12.32
S +0. 1 NGR KR =+ +0.1 |m&H +0.1 | +0.1 PKRFp 0.1 |psgsep +0.1 |EEH +0.1 RIS +0.0
10/31 200m (2) 24.60 |ILA fEA (2 24.97 T KHE (2) 25.54 |4 Fiavd  (2) 25.58 | w3 (2) 25.61 |JEER W (1) 25.84 K&l FEIK (2) 25.92 B B (2) 26. 15
-0.0 |Ff -0.0 KR -0.0 |/hEH -0.0 |#RHF -0.0 I -0.0 |EAH -0.0 | -0.0
10/31 800m (2)  2:07.10 |75 BBES ()  2:09.42 |7oAK DR Q) 2:12.96 |[fEHE EE O (2)  2:14.44 |di)Il EEES (1) 2:14.75 |4 BIRE (2)  2:15.44 |1l K (2)  2:18.78 [/NME REL (2)  2:19.24
KPS e g i & KIR=H KR i &
10/3] 3000m |IH ZE (3) 9:50.55 [Fkm fEN  (2)  9:55.25 /BT Z9R  (2)  9:58.73 |[E{E mUE  (2) 10:52.22 g A (1) 11:13.48 [FFEF BIAR (1) 11:13.52 |@EA HERF (2) 11:19.92 |[E% MEe (1) 11:26.63
e s KREH RIFrH KR=H A KIRFL I HHNH
10/31 A Bk Bmo g (2 1m65 [P/ PRE (2) m60 |8 Kk (2) 1me0 |Fehy RE (2) 1m60
JIFEH P EHde KPS
10/31 A WEBk W E N E)) 6m18 | Hrl A (3) 6m03 7R & (2 5md4 |4 HEIKED  (3) 5m43 |4 ZEF (2) 5ml3 |FAL #3F (2) 4m96 |INFE IS (2) Am67 | FE (2) 4m63
SKRAH -0.1 |&EE +0.9 |JIIFEH +0.3 /hNEH +0. 1 [RIFHEH -0.5 | RS -0.0 |JIEH -0.0 |HANH +0. 3
10/31 T HL % AR EAN®B) 12m51 | f&ak (2) 8m68 M LE (2) 8m49 | i Bim o (2) 8m02 | K¥F AW (2) ™92 |EfE S (2) o6 |2 A& (D) 6m71 | R BEME (1) 5m64
(5. 000kg) L NGR KR = )l KR /NE U i & &
10/31 100m |JEH  HEHE(6) 13.51 /A B (6) 13.76 |mifs BEK  (6) 14.22 ek $Rw (6) 14.37 |#F WK (6) 14.42 |'FFH AL (5) 14.71 |@kG AL (6) 14.85 |&EA EWR (6) 15. 01
fE e AR -1.4 | & ERER E N -1.4 |[B)I1JAC 1.4 |HEY2=7 -1.4 |biz L EARD -0.0 |/bIc LB E2RL -1.4 |$EFFFAC -0.0 |EH7A2U—F -0.0
N 10/31] 1000m | HEIF  (6) 3:18.43 |FkFE Mk (6)  3:18.83 | fF (5)  3:25.89 |DUMI 13 (6)  3:26.63 |[{EHE HiZE (6) 3:27.27 |[EWW —B (6) 3:28.98 |G MUt (5)  3:30.20 |G A (5) 3:33. 05
T B R B RS e 1 B A IR T B R B R T B R IR FIZAIFAC EHT7AY—} T B R T f e L AR
10/31 A Bk B MR (6) 3m85
KIRJAM +0.5

AL (NGR: K 2 #7 R 6%)




FE37REGHRE LHREEFEXS

20215108318 (A)

RE—Rx
e FIRTTERE b B
A £ FiH 147 2L 44 57 6 fir. 74 8 fir
10/31 100m % & () 13.04 [l iz (3) 13.08 13.10 [ Vo v (2) 13.56 |fHE B (2) 13.76 |t Z 2 A1) 13.77 |FrH AR (D 13.88 |Eifls 4R (1) 13.99
KR e -0.2 |JUERE®E 0.2 -0.2 KR -0.2 |RIFE 0.2 |k -0.2 MM 0.2 KRk -0.2
10/3]1  400m |k EEEE (3) 59.25 |#iff €A (2)  1:01.38 |FE FEFE(D)  1:04.53 |Ff MAZEN)  1:04.54 |fHiE Ao (2)  1:06.13 [JR B (2)  1:06.44
KR g JUH AR KPR g JUH AR KR BURELE AR I
10/3] 800m |[JEE & (2)  2:17.00 JIW FifE (3)  2:21.42 [SRWE A&3E (3)  2:23.24 [l BAK] (2)  2:28.78 ' UL D (2)  2:31.27 &K EME (1) 2:31.78 [FFAF mBESE (2)  3:05.94
KRR NGR| JU B[ 5 JUE R KR BURERE 5 KR BURELE AR I JUHE R
10/3] 3000m |#E ZHE (2) 10:25.13 |FH B (2) 10:55.97 [/hE  #i%E (1) 11:22.60 |l OF 0 (3) 11:35.00 |ZE #&F (1) 11:39.76 (&M L (2) 13:26.35
R U SR KRB KRIRBLEA IR ZREE KU BLEA KRR
10/31 A Bk FHA R (2) 1m50 [HJIT ER (2) Imd0 [FAH A skdi (1) 1m35
ISR KRR JUEE SR
10/31 A EBk e F(2) 5m09 AR MEsE (1) 4m85 [#EME & (D 4m63 | 7EAE ML (1) 4md0 [FLH fEK (2) 4m31 152 EA (2) 4m25
L +0. 1 | JUH SRR +0.0 |[RiFm 0.3 | KIRHEH -0.4 |RiFm 0.6 | KIURE +0.0
10/31 [RE2253 i = (2) 21m79
(1.000kg) |{EMELES
10/31 U K 2 () 21m53 [EitE ALE () 19m97 |7 (D 19m67
(0. 600kg) KR g KARA EHE
10/31 100m |HH B&E © 13.36 |BRIL Ak (3) 13.42 [HH WE Q) 13.56 | A (3) 13.61 [ K #IFG (D 13.86 |[fhex A M (1) 13.94 [EHO LY (1) 14.10 [JalH  Zs (1) 14. 28
KR T -0.6 KPRAH -0.6 |KRTH -0.6 [/hEF -0.6 |EfE -0.6 |RJFrH +0. 1 | 0.6 RRTAH +0. 1
10/3]  200m |[JEEH RIS (3) 28.13 |[#EH B (2) 28.26 |41l % (2) 28.74 Mg A () 29.16 |NAE  E8 (D) 29.22 |HEHE Gt (1) 29.67 |HEF  MELE  (2) 29.91 |15% il (2) 30. 51
I -0.5 I -0.5 KR -0.5 |JIIFH -0.5 I -0.5 KR -0.6 | -0.5 | -0.6
10/3] 800m |HH hiFE (3) 2:26.33 FHIF B (2)  2:27.94 (KW KW () 2:33.16 |¥E Mk (2)  2:37.39 |BEIL RAE (1) 2:44.51 [BEAF Efk () 2:47.74 |[fex K22 A(2)  2:47.81 | M (2)  2:48.02
s FIed RIFrgH KR KR = KR P H FHAeh /NE
KA e (@
s i BNH
10/3] 1500m [FRA f0 (2 4:49.89 | Kjl BiZs/h(2)  4:51.54 /8B <0 (1) 4:59.36 |77 H T (2)  5:05.65 [ ARMHEREF (1) 5:07.85 [#AH fiFE  (3)  5:16.14 |4 EE (1) 5:15.15 |BEFI&GE (1) 5:36.41
s s i JIIPE e KR Tt Bl KR P
10/31 A Bk LA FE (2) 1m35 |ZHOR D (1) 1m35 |#H P (2) 1m30 [FHH %% (2) 1m25 |fEjE We% (2) m25 |HA L (2) 1m10
)l KR /NE i EHde KR
10/31 A Bk TH# Ek#E () 4n81 [P W2 4m68 ([ fEE () 4md8 | Ty (2) 4md5 (ERAR EA& (2) 4ml2 |PrE o (2) 4m10 [RafE  ZEL (2) 3m93 |HEFEES  (2) 3m74
1= Liu +0.2 |[RIpEd -0. 1 [/NEH L1 PRIR -0.4 KRR +0.3 | RIFRH +1.0 |[EEH -0.8 [/NEH +0. 6
10/31 AL Iy A& (2 Im07 |#hfR EfR (3) 9amol [/R BER (3) 8m74 I EAE (2) ms0 [NE EE (2) 37 |FH A% (2) 6m67 |FHAER MR (2) 6m34 |EfE  FE (2) 6m28
(2.721kg) Pl KREH /NE i RIFr T R ANEH U
10/3] 100m |[AK & (6) 14.41 |Bis - T30 (5) 14.47 |1 ¥ (6) 14.54 |fi+E %5 (5) 14.92 ek Bz (6) 15.29 [FEH 0 (6) 15.32 |[Ack J&#K  (4) 15.37 |&HH £ (6) 15.59
KRG /)N -2 |HEY =T L2 |[AEY =T -1 2 PRIREGR/ N 0.6 |RHTAV—F| -1.2 | bl Lkg EARD -1.2 RRPE /N -1.2 | FIFAIEFAC -0.6
g 10/3] 1000m [k HEE (6) 3:26.75 [PUM K7y (5)  3:34.69 |G W5+ (6) 3:35.86 | T am/h(3)  3:36.78 [#K RAfE (6)  3:4lL42 [MAF EE (1) 3:43.99 [ERE MIZ&  (6)  3:44.04 [ RK @M (6)  3:47.97
EHTAV— | 1 B A IR HiFFrAC KRG/ Ay 2=7 ADIC L E AR T % R R T bz L EARD
10/31 A Bk KEF LE(6) 3m94 iR EE (6) 3m26 |k IREE (6) 2m99 | KA FiFE  (6) om78 [l CHE  (3) 2m47
ARG /N +0. 7 NGR[#2)11JAC +1. 1 [#)1JAC 40.2 |2z LEEE AR +0.7 |MbIz L EARD +0.9

AL (NGR: K 2 #7 R 6%)




